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Question Generic scheme Illustrative scheme nA:\::(k
15. | (a 3
@ o' find gradient of radius of —%
2 state gradient of tangent 2 3
o3 state equation of tangent 3 y=3x-2
Notes:

1. Do not accept y:%x—z for e3.

2. 3 isonly available as a consequence of trying to find and use a perpendicular gradient.
3. At e?accept, y—3x+2=0 or any other rearrangement of the equation where the constant terms

have been simplified.

Commonly Observed Responses:

(b) | (i) |e* find coordinates of T ot (0,-2) 1
(i) |5 find midpoint CT > (4,5) 3
¢ find radius of circle with o6 \/6_5 stated or implied by e’
diameter CT
o’ state equation of circle o’ ()5—4)2 +(y—5)2 =65

Notes:

4. Answers in part (b)(i) must be consistent with answers from part (a).
5. Accept x=0, y=-2 for %

2
(x—4)2 +(y—5)2 =(x/£) does not gain .

6.
7. ¢’ is not available to candidates who use a line other than CT as the diameter of the circle.

Commonly Observed Responses:

[END OF MARKING INSTRUCTIONS]
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